PLANETARY GEAR BOX

ZDE/ZDF/ZDWE/ZDWF/ZDSZ%
SEETERIE

< MATIR



M 23 E Sectional Drawing

B =55 . BHFEIRIEAE Type And Model Number

@ %t Output shaft

@ Hhi4mimiE Bearing for the output shaft
@ W4 Internal gear

@ 1724 Planetary gear

® APH%S Sunwheel

(® ABBECHMF Bearing for the sunwheel

@ iEECEHLIE= Appropriate motor flange
FERRAESLZ 5t Precision clamping system
®© %EF#L, Mounting hole

ZDEH A=A, ZD Series Gear Head

| {RBREBAT, Servo Motor

80 ZDE 20 () (S)

-7150  T1

©»© @ ©® @ 6

® @

D RENANEES:80 Gear head frame size:80
@ ENRIME: Gear head series code:

DERFRIFEE=ZRT

ZDE:Roud mounting flange series

DWEBERBNEFZEL=Z7

ZDWE:Right angle input roud mounting flange series

IDFSHEREE=RS

ZDF:Square mounting flange series

DWRERBBNGRELE=FY

ZDWF:Right angle input square mounting flange series

2DS:=RIERS ZDS:Hight stiffness series
@ L Gear Ratio:
Ba2%3,4,5,8,10; Single Stage 3,4,5,8,10;

#4%9,12,15,16,20,25,32,40,64;

Two Stage 9,12,15,16,20,25,32,40,64;

=%%60,80,100,120,160,200,256,320,516;

Three Stage 60,80,100,120,160,200,256,320,516;

@  ¥&FE Amount of backlash HEES RE TREE(ERE)
AT EATIFE AN + 3% 8 E Reducer Type No. Stage Standard Type
Precision (The load of output shaft is +3% of allowable output torque) 1 1243 arc-min

40ZDE/F 2 1543-arc-min
3 1843-arc-min
60ZDE/F 1 84> arc-min
1820022[1))Eé/FF 2 1243arc-min
160ZDE/F 3 1543 arc-min
115ZDS 1 85>arc-min
1427DS :
190ZDS 2 1243-arc-min
1 3043-arc-min
60ZDW/F 2 35%>arc-min
3 40%>arc-min
8UZDW/F 1 Zsﬁg\arc-min
120ZDW/F 2 30%>arc-min
160ZDW/F 3 3543-arc-min
® IR Input shaft type
SERBR (BB TCIC DA RE B EEES I EH) S:0ver locking (Omission) (Regardless whether the motor with keyway can use it. )
S1H SIS E (TIC BIA R B a2 EERa] £ A) S1:Locking with locking ring (Regardless whether the motor with keyway can use it. )
S2. TS X (N ) S2:Locking with keyway (Input shaft with key)
K igtE K:With keyway
AEfERE (B S ANTRKER) A:Other type (Please contact with us)
©® ERFERDZIATIEW) Applicable servo motor power (W)
@ WNE=SEREBHIIR RS Z(P15) Input flange and servo motor matching table (P15)

=5 ek 2L -

T
=
>
pd
m
—
>
py)
<
®
m
>
Py
o)
@)
X




ZDE/ZDF 235217 ERiE#
ZDE/ZDF SERIES PRECISIOM PLANETARY GEAR MOTOR

M 7= 52 E Product Graph

N
o
m
N
o
T
=
51
i
&
tn

N
O
m
N
)
e
wn
m
Y
m
wn
®
m
>
Py
= M 32 AR % # Technical Data
x TZERELS Product type 40 60 80 120 160  |JIEEE Reduction ratio| £%#{ Number of stage
4.5 12 40 80 400 3
6 16 50 110 450 4 1
6 16 50 110 450 5
5 15 45 100 400 8
4 12 40 80 305 10
/ 40 100 210 / 9
16.5 40 100 210 700 12
16.5 40 100 210 700 15
20 44 120 260 800 16
20 44 120 260 800 20 2
N 18 40 110 230 700 25
ijf:ﬁjﬂfie N.M 2 1 120 260 800 32
18 40 110 230 700 40
1.5 18 45 100 400 64
16.5 40 100 210 / 60
20 44 120 260 / 80
20 44 120 260 / 100
16.5 40 100 210 / 120
20 44 120 260 / 160 3
18 40 110 230 / 200
20 44 120 260 / 256
18 40 110 230 / 320
15 18 45 100 / 512
F5p Life /]NAS Hour 20,000
B iE) & {=A%E Instant stop torque N.M USTFEE %S Two times of rated output torque
T=EREYS Product type 40 60 80 120 160 B Unit 2% Number of stage
B K1R[E7] Max radial torque 160 450 900 2100 6000 N
EA4ME Max axial torque 80 225 450 1050 3000 N
96 1
THEEIER Full load efficiency 94 % 2
90 3
0.4 0.9 2.1 6 18 1
= Weight 0.5 1.1 2.6 8 22 Kg 2
0.6 1.3 3.1 9.5 / 8
T{FERE Operating temperature -25~+90 °C
{FPER IP IP54
JE8 75T, Lubrication type 258 Lifetime lubrication
L4757, Mounting type 1E= Any

BARRDSRAMAF i 100RPMET (EF Tt MU E /2)4k,

The max radial and axial torque work in the location of the center of output shaft when the out speed is 100RPM.



ZDE/ZDF 255217 2 RiE#
ZDE/ZDF SERIES PRECISIOM PLANETARY GEAR MOTOR

W 5 A% ¥] Technical Data

N
o
m
N
o
M
=
51
i
&
th

FEEABYS Product type 40 60 80 120 160 JBIELY Reduction ratio
0.031 0.135 0.77 2.63 12.14 3
0.022 0.093 0.52 1.79 7.78 4
0.019 0.078 0.45 1.53 6.07 5
0.017 0.065 0.39 1.32 4.63 8 N
0.015 0.054 0.34 1.14 3.52 10 O
/ 0.131 0.74 2.62 / 9 E
0.022 0.088 0.50 2.56 7.47 12 @)
0.019 0.077 0.44 1.79 6.65 15 ;
0.022 0.088 0.50 1.75 7.47 16 m
0.019 0.075 0.44 1.50 6.65 20 2y
. 0.019 0.075 0.44 1.49 5.81 25 m
%Emmfi ) Kgem? 0.017 0.064 0.39 1.30 450 32 ®)
Moment of inerta 0.016 0.064 039 1.30 450 40 m
>
0.016 0.064 0.39 1.30 4.50 64 )
0.019 0.075 0.50 1.50 / 60 w
0.019 0.075 0.50 1.50 / 80 9
0.019 0.075 0.44 1.49 / 100
0.016 0.064 0.39 1.30 / 120
0.016 0.064 0.39 1.30 / 160
0.016 0.064 0.39 1.30 / 200
0.016 0.064 0.39 1.30 / 256
0.016 0.064 0.39 1.30 / 320
0.016 0.064 0.39 1.30 / 512
FEERELE Product type 40 60 80 120 160 Z%# Number of stage
. ) <12 <8 <8 <8 <8 1
%‘:i'gf a;&";j'\" <15 <12 <12 <12 <12 2
<18 <15 <15 <15 / 3
TZERELE Product type 40 60 80 120 160
UMM Torsional stiffness N.M/arcmin 0.7 1.8 45 12 38
1275 Noise dB(A) 55 58 60 65 70
BRI NEEIE Max input speed min’ 4500 4500 4500 4500 4500
HEFFH N EEE Recommnd input speed min’ 3000 3000 3000 3000 3000

1. BB ESHNIEX, The moment of inertia is related with input shaft.
2. IRFEIERAE | BEESIm , TEMINEEE30004E /5 25 B TiMI78, Noise test standard pressure level, distance 1Tm, measured on idle running with an input speed of 3000rpm.



SwEINIaz/aaz

N
w}
m
N
o}
m
»
m
by
m
n
®
m
>
Pyl
vy]
o
X

ZDEREHITERIEN

ZDE SERIES PRECISIOM PLANETARY GEAR MOTOR

M N4k =28 Dimensions
i Output i NInput
L1 03
L2 L3 L4 D1
4-G2 D8 L8
— .

N4 NN

f B 00 | 6 | L7

‘/ - LN \] Tf

\\ A= T = 56 SL 3 8

\ &/, (& . L5

v R AN

L10 :
L9
M (37 Unit: mm

FEEABIE Product type 40ZDE 60ZDE 80ZDE 120ZDE 160ZDE
%% Number of stage 1 2 3 1 2 3 1 2 3 1 2 3 1 2
LIFERAEUL L1 overall length 935 [ 106.5| 119 |113.5|126.5|139.5| 144 | 162 | 179.5|195.2| 223 |250.5| 291 3405
L3FEAEEE L3 body length 39 | 52 | 645 | 465 | 595 | 725 | 60 | 78 | 955 | 73.7 | 101.5| 129 104 1535
igiHi% Output
L4H#H<E L4 output shaft length 26 35 40 55 87
L5H#H<ZE4//E L5 output length to the shaft shoulder 23 30.5 36 50 80
L6HEIKE L6 key length 16 25 28 40 70
L7$EZ 4RI L7 key length to the shaft end 2.5 2.5 4 5 5
LEEAIMEIKE L8 spigot length 2 3 3 4 5
D43 ET/R D4 output shaft diameter ®10h7 ®14h7 ®20n7 ®25h7 ®40h7
D54HEE 1R D5 shaft shoulder diameter 12 »17 »25 ®35 ®55
DEENIEESR D6 spigot diameter ®26h7 ®40h7 ®60h7 ®8Oh7 ®130h7
D7#B{RE{Z D7 body diameter ®40 ®60 ®80 ®115 ®160
D8ZZAEF,5>#5[E] D8 hole circle »34 52 »70 ®100 D145
B14EEE B1 key width 3 5 6 8 12
H1{EES H1 key height 1.2 16 225 28 43
G2Z24EMR4YF, G2 mounting screw hole M4X6 M5X8 M6X10 M10X16 M12X20
G3AR(MEBLIF, G3 center screw hole M3X9 M5X12 M6X16 M10X22 M12X25
B\ Input
L2 NE=4E L2 input flange length 285 32 44 66.5 99
LOEBANAHISE L9 motor shaft length 26 30 40 58 79
L10FERIMASR L10 spigot depth 6 10 10 10 10
D1%%EF,53-7R[E D1 mounting hole distribution circle d46 ®70 90 ®145 ®200
D2ERNINEELR D2 spigot diameter ®30G7 ®50G7 ®70G7 ®110G7 ®114.3G7
D34 N3AH4Z D3 input shaft diameter <867 <1467 <®19G7 <2467 <P35G7
G1ZEEIBL P XGRS G1 mounting threads x depth M4X10 M5X12 M6X15 M8X22 M12X25
Q3EIAE= Q3 input flange 40 160 180 130 0175

XN R ATARIERE AR B .

Xlnput size made according to motor size.



ZDF R5FSE1TERIEN

ZDF SERIES PRECISIOM PLANETARY GEAR MOTOR

B i Z=%8 Dimensions
8 Output
i NInput
L1
D7
E7 L2 L3 L4 03
D9EA, D8 L] L8 D1
i SN i
¢ — @ ' o
s ! '
N Bl N\ L6 L7
/] ‘ , s .
i / | i
U (e ) M s - o J e
i == o T [=1l=] a Dl ala
| 1]
\ ¢ (5 / D L5
\ / \, /
N
je @ .
S — L10 L
T L9
M (s Unit: mm
FEERBLE Product type 40ZDF 60ZDF 80ZDF 120ZDF 160ZDF
%% Number of stage 1 2 3 1 2 3 1 2 3 1 2 3 1 2
L1FB{RAL L1 overall length 93.5 | 106.5 | 119 |113.5|126.5|139.5| 144 | 162 | 179.5|195.2 | 223 |2505| 291 340.5
L3FEMREEE L3 body length 39 | 52 | 645|465 | 595 | 725 | 60 | 78 | 95.5 | 73.7 | 101.5| 129 104 153.5
igtHi% Output
L4H3MI<E L4 output shaft length 26 35 40 55 87
L5HHFHS ZE4//F L5 output length to the shaft shoulder 23 305 36 50 80
L6%2IKE L6 key length 16 25 28 40 70
L75ET40RIR1S L7 key length to the shaft end 25 25 4 5 5
LBRERIEKE L8 spigot length 2 3 3 4 5
L115iHR/ERE L11 output flange thickness 6 8 10 15 15
D4HHHHET/R D4 output shaft diameter ®10h7 ®14h7 ®20h7 ®25h7 ®40h7
D54HEER D5 shaft shoulder diameter ®12 >17 ®25 »35 ®55
DEERIYEESR D6 spigot diameter ®26h7 ®50n7 ®80h7 ®110h7 ®130h7
D74itHi£E= D7 output flange 45 60 90 0120 [J160/[1175
D8Z%%EF|,53-7n[E] D8 hole circle ®50 P70 100 ®130 ®185/0200
D9E=%%E7(, D mounting hole P35 ®5.5 6.5 8.5 ®11/D13.5
B14#%% B1 key width 3 5 6 8 12
H1fEE H1 key height 1.2 16 225 28 43
G MBEXFL, G3 center screw hole M3X9 M5X12 M6X16 M10X22 M12X25
55 N Input
L28 NiZ=4<E L2 input flange length 285 32 44 66.5 99
LIEBH 1AM L9 motor shaft length 26 30 40 58 79
L10FEAIMASR L10 spigot depth 6 10 10 10 10
D1%2£7,%570[&E] D1 mounting hole distribution circle D46 ®70 90 ®145 ®200
D2ERIEELR D2 spigot diameter ®30G7 ®50G7 ®70G7 ®110G7 ®114.3G7
D34 NAHAHAZ D3 input shaft diameter <867 <1467 <P19G7 <2467 <3567
G1LZERLYFXREE G1 mounting threads x depth M4X10 M5X12 M6X15 M8x22 M12X25
Q3HINIE= Q3 input flange 40 60 180 130 0175

I NIRRT ATARIERE AR B .

XInput size made according to motor size.

ShiE2M4az/3azZ

N
O
Il
N
O
|
»
m
2y
m
@)
(@)
m
>
py)
w
O
X




ZDWE/ZDWF 255317 2 iRiE
Z/DWE/ZDWF SERIES PRECISIOM PLANETARY GEAR MOTOR

M 7= 52 E Product Graph

N
g
=2
m
N
g
=
T
A
5
o
&
tn

N
=
N
@)
=
wn
m
Py
m
wn
i
Py
© M 32 AR % # Technical Data
X TZERELS Product type 60 80 120 160 JRIEEL, Reduction ratio| £%#{ Number of stage
12 40 80 400 3
16 50 110 450 4
16 50 110 450 5 1
15 45 100 400 8
12 40 80 305 10
40 100 210 / 9
40 100 210 700 12
40 100 210 700 15
44 120 260 800 16
44 120 260 800 20 2
40 110 230 700 25
BERI LR
Rated output torque N.M 44 120 260 800 32
40 110 230 700 40
18 45 100 400 64
40 100 210 / 60
44 120 260 / 80
44 120 260 / 100
40 100 210 / 120
44 120 260 / 160 3
40 110 230 / 200
44 120 260 / 256
40 110 230 / 320
18 45 100 / 512
FHip Life /)N Hour 20,000
B%a) =& {=4A%E Instant stop torque N.M USTFEEE HHA%E Two times of rated output torque
T EELS Product type 60 80 120 160 BA(Y] Unit %% Number of stage
B A{RMEF] Max radial torque 450 900 2100 6000 N
B KB/ Max axial torque 225 450 1050 3000 N
94 1
TEERZIER Full load efficiency 92 % 2
88 3
1.7 44 12 36 1
=8 Weight 19 5 14 40 Kg 2
2.1 55 16 / &
T{EBRE Operating temperature 25— 190 oC
{RIPELR 1P P54
E8 75 Lubrication type 258,85 Lifetime lubrication
224752, Mounting type 1E= Any

BAREASSEAMES,HE 100RPMET MR TR Him- R OMIE (L/2)kb,

The max radial and axial torque work in the location of the center of output shaft when the out speed is 100RPM.



ZDWE/ZDWF 255317 2iRiE
ZDWE/ZDWF SERIES PRECISIOM PLANETARY GEAR MOTOR

W #5 AR &E ¥ Technical Data

N
g
=2
m
N
g
=
M
ES
5
o
E3
th

T=EREYS Product type 60 80 120 160 JBOEEY, Reduction ratio
0.246 1.189 5.75 24.5 3
0.204 0.939 3.91 19.4 4
0.189 0.869 3.35 17.5 5
0.176 0.809 2.89 15.9 8 B
0.152 0.730 2.54 15.5 10 E
0.242 1.159 5.73 / 9 E
0.199 0.919 3.83 / 12 )
0.188 0.859 3.28 17.5 15 'IE'I
0.199 0.919 3.83 19.4 16 )
0.186 0.859 3.28 17.5 20 %
A 0.186 0.859 3.26 17.5 25 m
il Kgem® 0.175 0.809 2.84 15.9 32 %
Moment of inertia o
0.175 0.809 2.84 15.9 40
0.175 0.809 2.84 15.9 64 g
0.186 0.919 3.28 / 60 g
0.186 0.919 3.28 / 80 (@)
0.186 0.859 3.26 / 100 x
0.175 0.809 2.84 / 120
0.175 0.809 2.84 / 160
0.175 0.809 2.84 / 200
0.175 0.809 2.84 / 256
0.175 0.809 2.84 / 320
0.175 0.809 2.84 / 512
FEERELE Product type 60 80 120 160 255 Number of stage
) <30 <25 <25 <25 1
E2IE]R Backlash agri%'f'\" <35 <30 <30 <30 2
7 <40 <35 <35 / 3
1.5 4.5 10 38 1
AN Torsional stiffness N.M/arcmin 25 6.5 13 43 2
2.5 6.3 12 / &
I1E275 Noise dB(A) 65 68 70 70
e N\FEIER Max input speed min’ 4500 4500 4500 4500
HEFZINEEE Recommnd input speed min” 3000 3000 3000 3000

1. BB SHNIAX, The moment of inertia is related with input shaft.
2. IEFEIGARE | BEEIm , TEEI NEEER30005E /0 S E AT, Noise test standard pressure level, distance 1m, measured on idle running with an input speed of 3000rpm.



SEEINIMAZ/INAZ

N
]
7
N
]
=
M
»
m
Py
m
»
E
Y
W
@)
X

ZDWERJEE1TERMIEH
ZDWE SERIES PRECISIOM PLANETARY GEAR MOTOR

B i =%8 Dimensions
i85 Output 85 NInput
- L3 L4 as
) D1
: -6 |7
5 @H‘:’I 31 3 ®,
ED * 5 @ 4-G1
D3 2
D2
M (37 Unit: mm
FEERELE Product type 60ZDWE 80ZDWE 120ZDWE 160ZDWE
2% Number of stage 1 2 3 1 2 3 1 2 3 1 2
L&Y L1 overall length 150 163 176 | 1845 | 2025 | 220 | 249.2 | 277 | 3045 368 4175
L3FEMREEE L3 body length 465 | 595 | 725 60 78 955 | 737 | 1015 | 129 129 1785
L12/225 L12 overall hights 93 119.5 167.5 229
igHHiR Output
L4H#H<E L4 output shaft length 35 40 55 87
L5HEHSZ48/E L5 output length to the shaft shoulder 30.5 36 50 80
L6%E<E L6 key length 25 28 40 70
L7 Z=4>RiH4 L7 key length to the shaft end 25 4 5 5
L8TEMIAKE L8 spigot length 3 3 4 5
D4HAHET{R D4 output shaft diameter ®14h7 ®20n7 ®25h7 ®40h7
D54HEE1R D5 shaft shoulder diameter 17 »25 ®35 ®55
DEENRIYEESR D6 spigot diameter ®40n7 ®60h7 ®80h7 ®130h7
D7#E{RE1Z D7 body diameter ®60 ®80 ®115 ®160
D8Z%EF537R(E D8 hole circle ®52 ®70 ®100 ®145
B14EE B1 key width 5 6 8 12
H14&5 H1 key height 16 225 28 43
G2 MR FXIRRE G2 mounting thread x depth M5X8 M6X10 M10X16 M12X20
G35 MBELF|, G3 center screw hole M5X12 M6X16 M10X22 M12X25
5 N Input
L2 NiEZ=1KFE L2 input flange length 20 32 38 66
LOEBAN4MISEE L9 motor shaft length 30 40 58 81
L10FERIM AR L10 spigot depth 5 10 10 10
D1%2E7,%5#0[&E] D1 mounting hole distribution circle 70 ®90 145 ®200
D2ENIEER D2 spigot diameter ®5067 ®70G7 ®110G7 ®114.3G7
D34 N4AHFZ D3 input shaft diameter <P14G7 <1967 <P24G7 <3567
G1LZEBEFXREE G1 mounting threads x depth M5X12 M6X15 M8X22 M12X25
Q3HINIE= Q3 input flange 160 180 130 0175

MBI R ATARIERE AR B .

XlInput size made according to motor size.



ZDWF R5IBEZ 1T RiRIE
ZDWF SERIES PRECISIOM PLANETARY GEAR MOTOR

N
g
=2
m
N
g
=
M
ES
5
o
E3
th

B i Z=%8 Dimensions
8t Output i NInput
b7 - L3 14 ®
4-09E7, 08 REMIE o
—— = - N
Q_ g
BTNt} =
\ / _— i
IR © -5 28 N
/ - u L5 5
5
A—1 =t - ?
- 4-G1 %
=l o 2
w
D3| e ®
D2
5
I 22457 Unit: mm w
O
FEERELE Product type 60ZDWF 80ZDWF 120ZDWF 160ZDWF x
Z5#7 Number of stage 1 2 3 1 2 3 1 2 3 1 2
L1FB{RAL L1 overall length 150 163 176 | 1845 | 2025 | 220 | 249.2 | 277 | 3045 368 4175
35BN L3 body length 465 | 59.5 | 725 60 78 955 | 737 | 1015 | 129 129 1785
L12/22% L12 overall hights 93 119.5 167.5 229
igHHiR Output
L4HFHH<EE L4 output shaft length 35 40 55 87
L5HHEHHS Z48/8 L5 output length to the shaft shoulder 30.5 36 50 80
L6$EH<E L6 key length 25 28 40 70
L7 HH5RIHES L7 key length to the shaft end 25 4 5 5
L8ENIYEEE L8 spigot length 3 3 4 5
L11;5=/ZE L11 flange thickness 8 10 15 5
DAH4HESIE D4 output shaft diameter ®14h7 ®20h7 ®25h7 ®40h7
D54E B/ D5 shaft shoulder diameter »17 25 ®35 ®55
DEENIEE/R D6 spigot diameter ®50h7 ®80h7 ®110h7 ®130n7
D748KAE12 D7 body diameter [J60 90 120 [J160/CJ175
D8Z%EF, 3 7R[E D8 hole circle »70 ®100 ®130 ®185/0200
DY;E=%%7|, D9 mounting bore ®5.5 ®6.5 »8.5 ®11/013.5
B14#3% B1 key width 5 6 8 12
H15 H1 key height 16 225 28 43
G35/ MREXFL G3 center screw hole M5X12 M6X16 M10X22 M12X25
i Input
L2 NiZ=1<E L2 input flange length 20 32 38 66
LOEBHL4MI<RE L9 motor shaft length 30 40 58 81
LI0ZERI AR L10 spigot depth 5 10 10 10
D1Z£22E7,%5%0[&] D1 mounting hole distribution circle [oy[i] 90 P145 200
D2ERIEER D2 spigot diameter ®50G7 ®70G7 ®110G7 ®114.3G7
D3I NAiAHAZ D3 input shaft diameter <1467 <1967 <P24G7 <3567
G1LEEREFLXRE G1 mounting threads x depth M5X12 M6X15 M8x22 M12X25
Q3HINIE= Q3 input flange 160 180 130 0175

XN\ R AR EBATLR T E.

Xlnput size made according to motor size.



SEEINSaz

N
)
@)
@)
m
X
m
n
@
iy
>
Py
W
©)
X

ZDSRIEHITERIEM
ZDS SERIES PRECISIOM PLANETARY GEAR MOTOR

M 7= R & Product Graph

M #5 AR &E ¥4 Technical Data

TZERELS Product type 115 142 190 JRIEEL, Reduction ratio| £%#{ Number of stage
150 400 1000 3
200 560 1200 4
210 700 1600 5 1
148 450 1000 8
125 305 630 10
210 780 1500 12
EEmHHE M 210 780 1500 15
Rated output torque ' 260 910 1800 16
260 910 1800 20
210 780 1800 25 2
260 910 1800 32
210 780 1800 40
148 450 1000 64
125 305 630 100
Fip Life /)N Hour 20,000
B IE)={=4A%E Instant stop torque N.M ST ERE %S Two times of rated output torque
T=EREYS Product type 115 142 190 BAT Unit 2% Number of stage
EK1R[E/] Max radial torque 4300 8200 12000 N
ExA4ME Max axial torque 12000 19000 28000 N
SRR Full load efficiency zi % ;
& Weight 9 15.4 335 g 1
11.6 18.5 45 2
T{FIREE Operating temperature -25~+90 °C

RIPER IP

IP65

875 Lubrication type

#2585 Lifetime lubrication

ZHEF5H, Mounting type

{E= Any

BARRNDSRAMAF i 100RPMET (EF TRt U E /2)4k,

The max radial and axial torque work in the location of the center of output shaft when the out speed is 100RPM.



ZDSRIEHITERMIEM
ZDS SERIES PRECISIOM PLANETARY GEAR MOTOR

W 35 AR & ¥ Technical Data

TEEREYS Product type 115 142 190 ALY Reduction ratio
2.10 12.14 47.52 3
1.51 1.78 29.69 4
1.22 6.07 23.18 5
1.05 463 16.83 8
1.00 4.25 15.32 10 N
1.48 1.47 28.95 12 )
BiRE - 1.41 6.65 22.71 15 g
Moment of inertia gem 1.48 7.47 28.95 16 m
1.41 6.65 22.71 20 E
1.21 5.81 22.46 25 (T
1.46 6.36 16.65 32 (0]
1.05 5.28 16.54 40 g
1.05 4.50 16.45 64 Py
1.00 417 15.07 100 8
X
FEERELS Product type 115 142 190 %% Number of stage
B arcmin <8 <8 <8 1
Backlash Me <12 <12 <12 2
N _ ) _ 20 44 130 1
RSN Torsional stiffness N.M/arcmin 2 s 110 2
IE7E Noise dB(A) 65 68 70
B I NEEE Max input speed min’ 4500 4500 3000
HETF IR NEEIR Recommnd input speed min’ 3000 3000 2000

1. ENBESHNEX. The moment of inertia is related with input shaft.
2. IEFEIOARE | BEE1m , TR NGLIER30005E /9 S H AT, Noise test standard pressure level, distance 1m, measured on idle running with an input speed of 3000rpm.



N
)
@)
@)
m
X
m
n
@
iy
>
Py
W
©)
X

ZDSRIEHITERMIE

ZDS SERIES PRECISIOM PLANETARY GEAR MOTOR

B i =%8 Dimensions
L1
o7 L2 13 L4
4-DYEFL D8 13 _ L] L8
_ ‘%ﬁ
88 3 El 8
%} L5
L10 l
L9
M B3I Unit: mm
FEERELS Product type 115ZDS 142ZDS 190ZDS
257 Number of stage 1 2 1 2 1 2
L1FBMRZ4K L1 overall length 213 246.5 289 338.5 308.5 356
L3FEAEEE L3 body length 715 m 102 1515 1215 169
igHig Output
L4H#H<E L4 output shaft length 64.5 87 90
L5 HH#H<Z4//E L5 output length to the shaft shoulder 58 80 82
L6 L6 key length 50 70 70
L7SEZEHHARIRT L7 key length to the shaft end 4 5 5
LBREMEKE L8 spigot length 4 5 6
L1155 A/ERE L11 output flange thickness 14 20 20
D4HEHET/R D4 output shaft diameter ®32h7 ®40h7 ®55h7
D5#HEE 1R D5 shaft shoulder diameter P55 D65 95
D6ERIFYEEIR D6 spigot diameter ®110n7 ®130n7 ®160h7
D7#E{RE1Z D7 body diameter 0115 142 190
D8Z22EF5> %R D8 flange hole circle ®130 ®165 ®215
D9E=%%E7(, D9 mounting bore ®8.5 P11 ®13.5
B14EEE B1 key width 10 12 16
H1{EES H1 key height 35 43 59
G35 MBLLF|, G3 center screw hole M12X25 M12X25 M16X35
L1I3TZHEESE L13 recess width 34 67.5 52 101.5 52 99.5
L1424 L14 recess 0115 142 1190
185 NI Input
LAMNIEZEE L2 input flange length 7 100 105
LOEEHN4HRE L9 motor shaft length 58 79 82
L10ZERINEIR L10 spigot depth 10 10 8
D1Z&%EF 578 [&E D1 mounting hole distribution circle D145 200 215
D2ERIMEETR D2 spigot diameter ®110G7 ®114.3G7 ®180G7
D34 N4/4H72 D3 input shaft diameter <d24G7 <3567 <4267
G1LZEREFLXRE G1 mounting threads x depth M8X22 M12X25 M12X25
Q3L Q3 input flange 130 175 190

I N\ RO RTARIEFE AR 6.

Xlnput size made according to motor size.



{RAREBHLI MR T &
SERVO MOTOR CORRESPONDING SIZE TABLE

R EER A A\ I Gearbox Input

PEG7
DDG7

[\
-

EDA

BENZ=5ERBHITRR TR Input Flange And Servo Motor Matching Table

IR LRIE 126577, iE Az 10 LECRE ehfeR
Motor Power EE,HLR_TJ' Installation Distance| Threaded Hole Frame Aperture Stop Stop Depth Shaft Extension

(W) Motor Size A 5 5 5 = = I

T 45 M3 38 8 30 3 25

T2 46 M4 40 6 30 3 25

%0 T3 47 M4 40 8 30 3 25

T4 48 M3 42 8 30 3 25

m 45 M3 38 8 30 8 25

100 T2 46 M4 40 8 30 3 25

T3 46 M4 40 8 30 8 25

T4 48 M3 42 8 30 3 25

T 70 M4 60 1" 50 3 30

200 T2 70 M5 60 14 50 3 30

T3 70 M5 60 14 50 3 30

T 70 M4 60 14 50 3 30

400 T2 70 M5 60 14 50 3 30

T3 70 M5 60 14 50 8 30

T 90 M5 80 19 70 3 35

T2 90 M6 80 16 70 3 40

750 T3 90 M6 80 19 70 3 40
T4 100 M6 86 16 80 3 35

15 145 M8 130 19 110 6 58

T6 100 M6 86 19 80 3 40

T 100 M6 90 19 80 3 55

T2 115 M6 100 24 95 3 45

T3 115 M8 100 24 95 5 45

1000 T4 145 M8 130 22 110 6 58
15 145 M8 130 22 110 6 70

T6 115 M8 100 22 95 5 45

T7 145 M8 130 24 110 8 55

T 115 M8 100 19 95 3 55

T2 115 M6 100 24 95 3 45

T3 115 M8 100 24 95 3 45

1500 T4 145 M8 130 22 110 6 58
T5 145 M8 130 22 110 6 70

T6 115 M8 100 22 95 5 45

17 145 M8 130 24 110 3 55

319VL ONIHOLVIN HO1ON

P15



{RAREB LI R R T &
SERVO MOTOR CORRESPONDING SIZE TABLE

BN ZZ=5ERBHIIR/R TR Input Flange And Servo Motor Matching Table

EBAZER el 1247, DiE R 1EM LEMRE e
Motor Power EE.’fJ'LR_‘__f Installation Distance| Threaded Hole Frame Aperture Stop Stop Depth Shaft Extension
(W) Motor Size A 8 B 5 s - I
T 115 M8 100 19 95 3 55
T2 115 M6 100 24 95 3 45
% 2000 13 115 M8 100 2 95 3 45
| T4 145 M8 130 22 110 6 58
% 15 200 M12 130 35 114.3 10 80
= T6 115 M8 100 22 95 5 45
> T 115 M8 100 19 95 3 55
| 2500
o) T2 115 M6 100 24 95 3 45
E T 130 M8 120 22 110 3 55
Z T2 145 M8 130 28 110 6 65
2 3000 T4 145 M8 130 24 110 6 65
> T5 200 M12 175 35 114.3 10 80
,g T7 200 M12 175 35 114.3 10 65
m m 130 M8 120 22 110 3 55
3500 T2 145 M8 130 28 110 3 63
15 200 M12 175 35 114.3 10 80
T 145 M8 130 24 110 6 65
4000 T2 145 M8 130 28 110 6 65
15 200 M12 175 35 114.3 10 80
T6 200 M12 175 42 114.3 10 13
m 145 M8 130 24 110 6 65
o T5 200 M12 175 35 114.3 10 80
T6 200 M12 175 42 114.3 10 113
T7 200 M12 175 35 114.3 10 65
T 145 M8 130 24 110 6 65
5000 T2 145 M8 130 28 110 6 65
15 200 M12 175 35 114.3 10 80
T7 200 M12 175 35 114.3 10 65

ENRERETNRI AR , R HENDIABERIT K.

If an oil-seal is not present and the size is different, attachment of the oil-seal may correspond to special order, in some cases.
E2) SRR/, AR ERINT .

If the motor shaft is of D-cut and taper type, it corresponds to a special order.

TETREIMEITEERBNT R, AREIFS | IBRINSARTRER,

Out-of-standard may correspond to a special order in some cases, For details, contact us.



T
ASSEMBLY

B 233X /958 Assembly Procedure

BFRETREARDAR , BRUTRWHTERE. ARDENRISHSHE | RISENTRI  BEDARTRRTAEEE= , BN, —E2EREITE
AHEERISIX.

If a customer personally assembles the servo motor and reducer please use the following tip. The reducer flange to which the servo motor is attached has different dimensions based
on the motor specified .Therefore,assembly may be impossible for some motor.Make sure the correct motor is specified before ordering the reducer.

1. R%FEDIX Spec. In Case Of Assembling A Motor Without Key ® ZDE/F/WE/WF/S E5IREE

ZDE/F/WE/WF/S Series Schematic Diagram
O TGN | s\l , (RZteAEEIZETNAME. FHAREIEeENTT.

Take off the rubber cap, turn the input shaft, and match the head of the bolt to the hole of the rubber
cap. Make sure that the set bolt is loosened.

QRS MFASENMAG (IFREAZEELIWANIEN ) . BROITEAELS
IXTRHEN.
Gradually put the motor shaft into the input shaft (Ensure that it is smoothly put in without iam.)
Be careful not to be inserted with the motor tilted.

OBSAEFEEMEN L , FHIESEIHESIRIRTR. 55K
Attach the motor to the reducer and fasten the bolt with designated fastening torque. See Table 1. (‘U

ATaNISSY

@FERRERFETR | REEHESMARNEEIRSITE. 25%R2

Fasten the set bolt of the input shaft with designated fastening torque wrench, etc. See Table 2.

OF BB, TRELER.

Put on the rubber cap. It is the end of assembling. P
@ 51 Table © @
$7%4H%E Fastening Torque o Z! ® ~
LLAE R Motor Combination Bolt ‘ : :
(N-m) (kgf-cm) !
VK 1.0 10 @ g
M4 3.0 30 g—
M5 5.8 60
M6 9.8 100 ‘
M8 19.6 200 7 ‘
M10 39.2 400
M12 68.6 700 ‘ ~
M16 168 1650 ﬂ
®
@ X2 Table2
[E7E12#2 Combination Bolt FPSR4EE Fastening Torque
(N-m) (kgf-cm)
M3 1.5 15
M4 315 35
M5 71 Al
M6 12 120
M8 30 300
M10 60 612

FREX DR TG |, TG DATRDA TR, THRELRB.

You can assemble the motor with keyway like above when take off the key. There is no risk of dislocation.



=
K=o
ASSEMBLY
R EHRY Z%E Peducer Assembly
BRIENREERE LY, BEMATERVEELTERNSE | FRAERFSEIEKISEIHERRIEEEE. 5EF4

Jointing with reducerln case of jointing a reducer with the device, make sure that the combining side is plane without inconsistency, and when assemble reducer outo equipment,
ensuring assembly surface smooth and without burr. See Table 4.

@ 554 Tabled
$TZFA4E Fastening Torque
TR E =248 Reducer Combination Bolt S g ‘orq
(N-m) (kgf-cm)
>
% M5 58 60
m M6 9.8 100
< M8 19.6 200
2 M10 392 400
— .
< M12 66.6 700
M16 16.8 1650

P18

I iZE#E 48 %k Connection To The Output Shaft

JEREETN Cautions:

1. et E RS, RSN |, B0 N DI AR A .
When assemble a coupling, pulley, etc. onto the output shaft,make sure that excessive axial load
not be given to the output shaft.

TBDERRNEEN | LGRS RS EHR. “ﬁ'ﬂ
=

N
;

In case of strongly hitting the shaft with a hammer, the shaft inlet or the inside of the reducer
may be damaged, therefore it shall be prohibited.
3. TEAGESEFNINTIRENERANY) , TRKSHIRERE | DRIBERDIE

&, |Ifthe shaft or key of a coupling assembled is loosed, it may cause carbonization, so be

careful when assembling.
4, REBGHETH , BEAEEREREREEE.
For assembling of a coupling, fix the key with a set bolt.
5. EERNS7ROVERGM .  Please adjust shaft centre carefully in connecting.




I 4 0 T 486

PLANETARY GEAR BOX

P19



Il HT 4000\ I 32 1) 2

PLANETARY GEAR BOX




I 4 0 T 486

PLANETARY GEAR BOX

P21



Il HT 4000\ I 32 1) 2

PLANETARY GEAR BOX




NY0I1VLVI

.
[

1 g

PLANETARY GEAR BOX AC & DC RIGHT TRANSMISSION PLANETARY
gonzoces 2 ANGLE GEAR MOTOR CRoRRRES

RREGRREL PN e
<D MATIE <o MATIE <o MATIE

PLANETARY GEAR BOX SMALL AC GEAR MOTOR DC BRUSHLESS GEAR MOTOR
ZB/ZBR/ZE/HDR 31 NSRS ATHIS R R ERERIAREH
R EATRIRE
<0 MATIE <0 MATIE <0 MATIE
| i

www.zd-motor.com »)



< MATIR

PLANETARY GEAR BOX
CATALOGUE

FiRPRDBEREEDRBERLT
NINGBO ZHONGDA LEADER INTELLIGENT TRANSMISSION CO.,LTD.

ik, N IBRESTRAT LT AXFHK—IK1855
Add : NO.185 1st Xinxing Road,New Industrial Zone, Cixi City, Zhejiang, China.

ERESES:

E3iE. 0574-63537377
fEE; 0574-63534879
E-mail: china@zd-motor.com

EfFESRS:

International trade department:

Tel: 86-574-63530538 Fax: 86-574-63534879
E-mail: manager@zd-motor.com

E-mail: trade@zd-motor.com

EZIFE, SiEE:

www.zd—motor.com

B RAREE R, BABTEM.

Any changes in product contents without notice.




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24

